f1 = x8xg + X7 + X728 + T5T6 + T4Tg + T4X7 + X3Tg + T3X5 + T + X1 T7 + X1 X6

fo =1+ 2329 + 2779 + T7T8 + X6 + TeT9 + TeTy + T4Ts + T3T7 + T3T6 +
ToX7 + ToXy + 1

f3 = w9 + w67 + T4T8 + T4T7 + T4T5 + T3T6 + T3T5 + T3T4 + T2 + T1T8 +
1T + T1T4 + T122

fa = 1427+ 2528+ 2425 +2309 +T3T8+ToT6+ToX5 +Tox3+T1 T4 +HT123+T1 X2

f5 = x8x9 + a8 + T5 + T4Tg + T3T6 + TaTg + ToT3 + T1T8 + T X7 + T176

fe6 = xg + X728+ T6T9 + T5T7 + Ty + X3T9 + T3TG + T2T5 + T1Tg + T 1 T8 + T T2

fr =1+ x5 + 2629 + T5T6 + T4T9 + T3T7 + T3Tg + T3T4 + T2X5 + Ta2Tyg +
ToT3 +T1 + T1T9

fs = 1+ 28+ 2879 +26T7+T509+T528+TaTog+T4T6+T3+Torg+To2x7+2174

fo =14 z7x9 + 26 + T42T7 + X324 + ToTg + ToXg + ToT7 + X1 X5 + T1T4 + T X2



